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[image: image30.png]MERCURY | VENUS | EARTH | MOON SATURN | URANUS | NEPTUNE | PLUTO
Mass 0.0553 0815 1 00123 | 0.107 3178 952 145 17.1 0.0021
Diameter 0.383 0.949 1 02724 | 0532 1121 945 401 388 0.187
Density 0.984. 0951 1 0605 | 0713 0.240 0.125 0.230 0297 0317
Gran 0378 0.907 1 0.166 | 0377 236 0916 0.889. 112 0.059
Escape Velocity 0.384. 0.926 1 0213 | 0450 532 3.17 190 2.10 0.098
Rotation Period 5858 244 1 274 103 0415 0.445 -0.720 0.673 641
Length of Day 1759 1168 1 295 103 0414 0444 0.718 0.671 6.39
Distance from Sun 0.387 0.723 1 000257* | 152 520 9.58 1920 3005 3924
Perihelion 0313 0.731 1 0.00247% | 141 503 920 18.64 3022 30.15
Aphelion 0459 0.716 1 0.00267* | 1.64 537 9.96 1975 29.89 48.02
Orbital Period 0241 0.615 1 00748 | 188 119 294 837 163.7 2480
Orbital Velocity 161 118 1 00344 | 0810 0439 0.325 0229 0.182 0.158
Orbital Eccentricity 123 0.401 1 329 560 293 338 274 0.677 146
Axial Tilt 0.0004 0.113% 1 0285 | 107 0.134 114 4.17% 121 245%
Surface Pressure 0 92 1 0 001 | Unknown* | Unknown* | Unknown* | Unknown* 0
Number of Moons 0 0 1 0 2 63 62 27 13 3
Ring System? No No No No No Yes Yes Yes Yes No
Global Magnetic Field? Yes No Yes No No Yes Yes Yes Yes Unknown
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[image: image31.png]MERCURY | VENUS | EARTH | MOON | MARS | JUPITER | SATURN | URANUS | NEPTUNE | PLUTO
Mass (10*kg) 0330 487 597 | 0073 | 0642 1899 568 868 102 00125
Diameter (km) 4879 12004 | 12756 | 3475 | 6792 | 142984 | 120536 | 51,118 49,528 2390
Density (kg/m?) 5427 5243 | 5515 | 3340 | 3933 1326 687 1270 1638 1750
Gravity (/%) 37 89 98 16 37 231 90 87 110 06
Escape Velocity (km/s) 43 104 112 24 50 595 355 213 25 11
Rotation Period (hours) 14076 | 58325 | 239 | 6557 | 246 99 107 172 16.1 -1533
Length of Day (hours) 42226 28020 | 240 | 7087 | 247 99 107 172 16.1 1533
Distance from Sun (10° km) 579 1082 | 1496 | 0384* | 2279 | 7786 14335 | 28725 4951 | 58700
Perihelion (10° km) 460 1075 | 1471 | 0363 | 2066 | 7405 13526 | 27413 44445 | 44350
Aphelion (10° km) 698 1089 | 1521 | 0406 | 2492 | 8166 15145 | 30036 45457 | 73043
Orbital Period (days) 880 247 | 3652 | 273 | es70 | 4331 10747 | 30589 59800 | 90,588
Orbital Velocity (kvs) 419 350 298 10 | 241 13.1 97 68 54 47
Orbital Inclination (degrees) 70 34 00 51 19 13 25 08 18 172
Orbital Eccentricity 0205 0007 | 0017 [ 0055 | 0094 | 0049 0057 0046 0011 0244
Axial Tilt (degrees) 001 1774 [ 234 671 | 252 3.1 267 978 283 1225
Mean Temperature (C) 167 464 15 20 65 -110 -140 -195 200 225
Surface Pressure (bars) ) 92 1 0 001 | Unknown* | Unknown* | Unknown* | Unknown* 0
Number of Moons ) 0 1 0 2 63 62 27 13 3
Ring System? No No No No No Yes Yes Yes Yes No
Global Magnetic Field? Yes No Yes No No Yes Yes Yes Yes | Unknown
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Using the Planet’s numbers, calculate the mass of the Sun.
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The � HYPERLINK "http://en.wikipedia.org/wiki/Sun" ��Sun� (and therefore the � HYPERLINK "http://en.wikipedia.org/wiki/Earth" ��Earth� and the � HYPERLINK "http://en.wikipedia.org/wiki/Solar_System" ��Solar System�) may be found close to the inner rim of the galaxy's � HYPERLINK "http://en.wikipedia.org/wiki/Orion_Arm" ��Orion Arm�, in the � HYPERLINK "http://en.wikipedia.org/wiki/Local_Fluff" ��Local Fluff� inside the � HYPERLINK "http://en.wikipedia.org/wiki/Local_Bubble" ��Local Bubble�, and in the � HYPERLINK "http://en.wikipedia.org/wiki/Gould_Belt" ��Gould Belt�, at a distance of ~25,000±1,000 � HYPERLINK "http://en.wikipedia.org/wiki/Light-year" ��ly� from the � HYPERLINK "http://en.wikipedia.org/wiki/Galactic_Center" ��Galactic Center�.  The Sun, and thus the Solar System, is found in the � HYPERLINK "http://en.wikipedia.org/wiki/Habitable_zone#Galactic_habitable_zone" ��galactic habitable zone�.
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Using the Planet’s numbers, calculate the mass of the Sun.
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The stellar disk of the Milky Way Galaxy is approximately 100,000 � HYPERLINK "http://en.wikipedia.org/wiki/Light-year" ��light-years� (9×1017 km) in diameter, and is considered to be, on average, about 1,000 ly  thick. It is estimated to contain at least 200 billion stars and possibly up to 400 billion stars, the exact figure depending on the number of very low-mass, or � HYPERLINK "http://en.wikipedia.org/wiki/Dwarf_stars" ��dwarf stars�, which are hard to detect, especially more than 300 light years from our sun, and so current estimates of the total number remain highly uncertain. This can be compared to the one trillion (1012) stars of the neighboring  � HYPERLINK "http://en.wikipedia.org/wiki/Andromeda_Galaxy" ��Andromeda Galaxy�.  
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Now, calculating the Density of the Earth
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